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BIOLOGY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes

NOTE: Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.

(i) If due to any reason, the direction of peristalsis reverses. What would be the result?

A Vomiting B. Constipation C. Diarrhoea D. Nausea
(1) The average human heart beat is:

A 80 times / minute B. 70 times / minute

C. 85 times / minute D. 75 times / minute
(iii) Biomolecules assemble in a particutar way and form:

A Macromolecules B. Organelles

C. Bio-elements D. Organs

(iv) The statement “A litre of water is heavier than a litre of ethanol” is an example of:

A Quantitative observations B. Deductions
C. Biological problem D. Qualitative observations
(v) In Pakistan which species is facing decline in its population due to hunting by foreigners and habitat
destruction?
A Houbara bustard B. Indus delphin
C. Markhor D. Whale
(vi) The level of organization which is less definite in plants is.
A Tissue level B. Organ system level
C. Organ-level D. individual level

(vii) An unnatural cross between two different but closely related species produces:

A Infertile offspring B. No offspring
C. Fertile offspring D. Only male offspring
(vii)  Which microscope is better for the study of life processes of Amoeba?
A Electron microscope B. Transmission Electron Microscope
C. Scanning Electron Microscope .D. Light Microscope

(ix) Prosthetic groups are:

A Required by all enzymes B. Tightly bound to enzyme
C. Loosely attached with enzymes D. Proteins in nature
(%) In order to separate digits during the formation of fingers, the cells between them undergo:
A. Necrosis B. Interphase C. Cell division D. Apoptosis
(xi) Stomata cover only of the leaf surface.
A 1-2% B. 3-4% C. 5-6% D. 10-20%
(xii) Fungi and many protists have cell walls although they do not contain:
A Chitin B. Peptidoglycan and chitin
C. Cellulose D. Giycogen
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BIOLOGY SSC-| )€

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Attempt any ELEVEN parts. The answer to each part should not exceed 3 to 4 lines. (11 x3=33)
(i) Define the following:
a. Molecular biotogy b. Biometry C. Community
(i) How WBCs function as the main agent in body’s defence system?

(i) Write down the cause, symptom and treatment of Malaria.

(iv) What kind of organisms are included in Kingdom Monera? Also write about their mode of nutrition.
(v) What do you mean by horticulture and how is it related to agriculture?
(vi} Explain briefly the types of Meristematic tissues.

(vil) What is Induced-Fit Model of enzyme action?

(vii)  Summarize the events of Dark Reaction.

{1x) Write classification of humans.

{x) Define Deductions. Draw a deduction from the hypothesis “All plant cells have nucleus.”
(xt) What is meant by denaturation of enzyme?

(xii)  Discuss significance of Meiosis in production of variations.

(xiii}  Entist the rules, which are adapted while suggesting and documenting scientific names.
(xiv)  Draw and label “Fluid-Mosaic Model” of cell membrane.

(xv) Write down deficiency symptoms related tc vitamin A, C and D.

SECTION - C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks, (2x10=20)
Q.3 a. Describe the three main stages of Aerobic Respiration. (07)
b. Draw a flow chart to summarize mechanism of respiration. (03)
Q.4  Explain the structure of heart and circulation of blood inside it with the help of a labeled diagram. (10)
Q.5 a. Draw diagrams tc compare Mitosis and Meiosis-|. (04)
b. Write details of selection, grinding and partial digestion of food in oral cavity. (06)
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